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DN 0.0 N.D. N.D. N.D. 0.1 N.D. N.D. 0.1 N.D. N.D. N.D. N.D. N.D. 0.1 N.D.
70T N 0.01] _N.D. 2 N.D. 2 N.D. 2 N.D. 0.5 N.D. 2 N.D. 0.5 N.D. 0.5 N.D. N.D. 0.5 N.D. 2 N.D. 05
TEZITUR 0.01]_0.01 1 N.D. 5 N.D. 15 N.D. 2 N.D. 15 N.D. 2 N.D. 2 N.D. 0.1 N.D. 2 N.D. 45 N.D. 2
7% AN 0.01] _N.D. 3 N.D. 10 N.D. 10 N.D. 3 N.D. 10 N.D. 2 N.D. 1 N.D. 0.02 N.D. 3 N.D. 10 N.D. 1
PRI 0.0l N.D. 4 N.D. 3 N.D. 0.7 N.D. 2 N.D. 0.7 N.D. 0.7 N.D. 1 N.D. 0.05 N.D. 2 N.D. 0.7 N.D. 1
T T R 0.0l N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
SR 0.01] _N.D. N.D. N.D. 2 N.D. 2 N.D. 2 N.D. 2 N.D. 2 N.D. 2 N.D. 2 N.D. 2 N.D. 2
ENS A0 A 0.005] N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.01 N.D. N.D. N.D. N.D. 0.01
ERVPNIBA 0.0l N.D. 0.2 N.D. 0.2 N.D. 0.1 N.D. 0.2 N.D. 0.1 N.D. 0.2 N.D. 0.1 N.D. 0.2 N.D. 0.2 N.D. 0.1 N.D. 0.1
A 0.0l N.D. 0.02 N.D. 0.02 N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.02 N.D. 0.05 N.D. 0.02 N.D. 0.05 N.D. 0.05 N.D. 0.05
TR AT 0.0l _~N.D. 20 N.D. 15 N.D. 2 N.D. 3 N.D. 2 0.15 5 N.D. 0.5 N.D. 0.1 N.D. 3 N.D. 2 N.D. 0.5
JaF T =D 0.01] _N.D. 4 N.D. 5 N.D. 0.7 N.D. 1 N.D. 0.7 N.D. 1 N.D. 2 N.D. 0.02 N.D. 1 0.04 0.7 N.D. 2
TR A 0.0l N.D. 1 N.D. 1.0 N.D. 0.2 N.D. 0.2 N.D. 0.2 N.D. 0.5 N.D. 0.05 N.D. 0.2 N.D. 0.2 N.D. 0.2 N.D. 0.05
JTL T = e 0.0l N.D. 2 N.D. 5 N.D. 3 N.D. 1 N.D. 3 N.D. 1 0.02 0.5 N.D. N.D. 1 N.D. 3 N.D. 0.5
I 0.0l N.D. 0.2 N.D. 0.05 N.D. 0.3 N.D. 0.2 N.D. 0.3 N.D. 0.2 N.D. 0.2 N.D. 0.2 N.D. 0.2 N.D. 0.3 N.D. 0.2
T 7077 A 0.01] _N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.05
7 A 0.0l N.D. 0.2 N.D. 0.2 N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.2 N.D. 0.05 N.D. 0.2 N.D. 0.05 N.D. 0.05 N.D. 0.05
e ES % 0.01] _N.D. 5.0 N.D. 5.0 N.D. 5.0 N.D. 5.0 N.D. 5.0 N.D. 5.0 N.D. 5.0 N.D. 5.0 N.D. 5.0 ND. 5.0 N.D. 5.0
Say Ak 0.01] _N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
%ingﬁx&(}%vl\(n@ 0.01 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.2 N.D. 0.2 N.D. 0.1 N.D. 0.1 N.D. 0.2
SO 0.01] _N.D. 05 N.D. 1.0 N.D. 2.0 N.D. 0.5 N.D. 2.0 N.D. 0.4 N.D. 0.5 N.D. 0.5 N.D. 05 N.D. 2.0 N.D. 05
S LA 0.0l N.D. 0.5 N.D. 2.0 N.D. 5.0 N.D. 0.5 N.D. 5.0 N.D. 2.0 N.D. 0.5 N.D. 2.0 N.D. 05 N.D. 5.0 N.D. 0.5
DARE—R 0.01] _N.D. 0.5 N.D. 1 N.D. 1 N.D. 1 N.D. 1 N.D. 1 N.D. 1 N.D. 1 N.D. 1 N.D. 1 N.D. 1
AT ) 0.0l N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1
F7 AT L 0.0l N.D. 2 N.D. 2 N.D. 2 N.D. 0.5 N.D. 2 N.D. 1 N.D. 0.5 N.D. N.D. 0.5 N.D. 2 N.D. 05
F A AR 0.0l N.D. 0.05 N.D. 0.05 N.D. 0.10 N.D. 0.30 N.D. 0.10 N.D. 0.05 N.D. 0.30 N.D. 0.05 N.D. 0.30 N.D. 0.10 N.D. 0.30
F IR 0.0l N.D. 0.1 N.D. 0.1 N.D. 0.5 N.D. N.D. 0.5 N.D. N.D. N.D. N.D. N.D. 0.5 N.D.
j/”&f;&%;??ww} 0.01] N.D. 0.5 N.D. 0.5 N.D. 0.5 N.D. 0.5 N.D. 0.5 N.D. 0.5 N.D. 0.5 N.D. 0.5 N.D. 0.5 N.D. 0.5 N.D. 0.5
F LT RA 0.005] N.D. 0.005 N.D. 0.005 N.D. 0.005 N.D. 0.005 N.D. 0.005 N.D. 0.005 N.D. 0.005 N.D. 0.005 N.D. 0.005 N.D. 0.005 N.D. 0.005
Y 0.01] _N.D. 0.50 N.D. 0.50 N.D. 0.50 N.D. 1.0 N.D. 0.50 N.D. 0.50 N.D. 1.0 N.D. 0.50 N.D. 1.0 N.D. 0.50 N.D. 1.0
B 0.0 N.D. 2.0 N.D. 2.0 N.D. 1.0 N.D. 1.0 N.D. 1.0 N.D. 2.0 N.D. 1.0 N.D. 2.0 N.D. 1.0 N.D. 1.0 N.D. 1.0
NI 0.005] N.D. 0.05 N.D. 0.05 N.D. 0.1 N.D. 0.05 N.D. 0.1 N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.1 N.D. 0.05
ST A 0.0l N.D. 0.05 N.D. 0.3 N.D. 0.3 N.D. 0.3 N.D. 0.3 N.D. 0.3 N.D. 0.3 N.D. 0.05 N.D. 0.3 N.D. 0.3 N.D. 0.3
ST A AT 0.0l ~N.D. 0.2 N.D. 0.2 N.D. 1.0 N.D. 1.0 N.D. 1.0 N.D. 0.2 N.D. 0.2 N.D. 0.2 N.D. 1.0 N.D. 1.0 N.D. 0.2
S 0.0l N.D. 0.3 0.03 2 N.D. 0.5 N.D. 0.5 N.D. 0.5 N.D. 0.5 N.D. 0.5 N.D. 0.05 N.D. 0.5 N.D. 0.5 N.D. 0.5
CURAAF L 0.0l N.D. 1.0 N.D. 1.0 N.D. 1.0 N.D. 3.0 N.D. 1.0 N.D. 1.0 N.D. 2.0 N.D. 0.10 N.D. 3.0 N.D. 1.0 N.D. 2.0
e 0.0l N.D. 0.2 N.D. 0.2 N.D. 0.2 N.D. 0.2 N.D. 0.2 N.D. 0.2 N.D. 0.2 N.D. 0.2 N.D. 0.2 N.D. 0.2 N.D. 0.2
T = ZIUR T 0.0l N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
T T A 0.0 N.D. 1 N.D. 2 N.D. N.D. 5 N.D. N.D. 2 N.D. 3 N.D. N.D. 5 N.D. N.D. 3
Z= bR 0.0l N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1 ND. 0.1 N.D. 0.1
T UL —F 0.005 N.D. 3.0 N.D. 5.0 N.D. 0.50 N.D. 1.0 N.D. 0.50 N.D. 2.0 N.D. 0.20 N.D. 0.20 N.D. 1.0 N.D. 0.50 N.D. 0.20
T CO% AL 0.0l N.D. 0.5 N.D. 2.0 N.D. 0.02 N.D. 0.5 N.D. 0.02 N.D. 1.0 N.D. 05 N.D. 0.02 N.D. 0.5 N.D. 0.02 N.D. 0.5
THFIAR 0.005] N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
T HIRA 0.0l N.D. N.D. N.D. 0.03 N.D. 0.02 N.D. 0.03 N.D. N.D. 0.02 N.D. N.D. 0.02 N.D. 0.03 N.D. 0.02
TV R F—F 0.005] N.D. 0.05 N.D. 2.0 N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.50 N.D. 1.0 N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 1.0
TN T = ) I AT 0.0l N.D. N.D. 2 N.D. 10 N.D. 2 N.D. 10 N.D. 0.5 N.D. 2 N.D. N.D. 2 N.D. 10 N.D. 2
O IRy 0.01] _N.D. 5 N.D. 5 N.D. 5 N.D. 5 N.D. 5 N.D. 1 N.D. 5 N.D. 0.05 N.D. 5 N.D. 5 N.D. 5
ZTaF AR A 0.01] N.D. N.D. 2.0 N.D. N.D. N.D. N.D. 0.1 N.D. N.D. 0.1 N.D. N.D. N.D.
VAN 0.0l N.D. 5.0 N.D. 5.0 N.D. 3.0 N.D. 1.0 N.D. 3.0 N.D. 2.0 N.D. 0.5 N.D. 5.0 N.D. 1.0 N.D. 3.0 N.D. 05
RUF A AH) 0.0l N.D. |CFAwE| N.D. 0.1 N.D. 0.2 N.D. 0.05 N.D. 0.2 N.D. 0.1 N.D. N.D. 0.05 N.D. 0.05 N.D. 0.2 N.D.
RAHIR 0.0l N.D. 1.2 N.D. 10 N.D. 3.0 N.D. 2 N.D. 3.0 0.05 3.0 N.D. 5 N.D. 0.70 N.D. 2 N.D. 3.0 N.D. 5
~SF A 0.0l N.D. 2.0 N.D. 8.0 N.D. 8.0 N.D. 0.5 N.D. 8.0 N.D. 0.5 N.D. 0.5 N.D. 8.0 N.D. 05 ND. 8.0 N.D. 0.5
ST A=) 0.01] _N.D. 1 N.D. 1 N.D. 1 N.D. 1 N.D. 1 N.D. 1.0 N.D. 1 N.D. 0.05 N.D. 1 N.D. 1 N.D. 1
XESH IR ORAT =%
i, 0.01f ~N.b. N.D. 1 N.D. 0.2 N.D. 1 N.D. 0.2 N.D. 0.2 N.D. 1 N.D. N.D. 1 N.D. 0.2 N.D. 1
XTFH T 0.0l _N.D. 1 N.D. 1 N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 1 N.D. 0.05 N.D. 0.2 N.D. 0.1 N.D. 0.1 N.D. 0.05
e R —
é}ég‘gfé‘n?*f“b”/ 0.005 0.07 N.D. 0.05 0.02 0.05 N.D. N.D. 0.02 0.06 0.02 0.05 N.D. 0.02
T R) 0.005 0.01 N.D. 0.01 N.D. 0.01 N.D. N.D. N.D. 0.01 N.D. 0.01 N.D. N.D.
A 7a A 0.01
TRX Y — L 0.01 0.06 05
A== ==y 0.01
TV TR 0.01
> )55y 0.01 0.02 1
TN 0.01
I AT = 0.01 0.03 3
F7aF ) —)L 0.01 0.21 10
U5 aARaE o 0.01 0.03 15
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EPN 0.0I] N.D. N.D. N.D. N.D.
TSR 0.01] N.D. 2 N.D. N.D. 0.5 N.D.
T HITIR 0.01] N.D. 5 N.D. 3 N.D. 2 N.D. 0.1
T XL AREE 0.01] 0.02 10 N.D. 5 0.10 1 N.D. 0.02
AIX e YR 0.01] N.D. 3 N.D. 3 N.D. 1 N.D. 0.05
TF 4T RA 0.01] N.D. N.D. N.D. N.D.
TN T ay A 0.01] N.D. N.D. 5 N.D. 2 N.D. 2
TSR A 0.005] N.D. N.D. N.D. 0.01 N.D.
TR LARA 0.01] N.D. 0.2 N.D. 0.01 N.D. 0.1 N.D. 0.2
XF LR A 0.01] N.D. 0.02 N.D. 0.05 N.D. 0.05 N.D. 0.02
L)X WAF )L 0.01] N.D. 15 N.D. 0.05 N.D. 0.5 N.D. 0.1
yaFr=3Dv 0.01] N.D. 5 N.D. 2 N.D. 2 N.D. 0.02
0 )LE YR A 0.01] N.D. 1.0 N.D. 0.3 N.D. 0.05 N.D. 0.2
L7 L 0.01] 0.04 5 N.D. 0.13 0.5 N.D.
T T ELRA 0.01] N.D. 0.05 N.D. 0.2 N.D. 0.2 N.D. 0.2
a)L 7 a7y b 0.01] N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.05
2T IRA 0.01] N.D. 0.2 N.D. 0.05 N.D. 0.05 N.D. 0.2
CINT = HNT 0.01] N.D. 5.0 N.D. 5.0 N.D. 5.0 N.D. 5.0
vy Ay _ 0.01] N.D. N.D. N.D. N.D.
CITRAAROTVRGE o0l . 0.1 N.D. 0.1 N.D. 0.2 N.D. 0.2
FnzEwa, )
>R 0.01] N.D. 1.0 N.D. 1.0 N.D. 0.5 N.D. 0.5
YL AR 0.01] N.D. 2.0 N.D. 5.0 N.D. 0.5 N.D. 2.0
VA —h 0.01] N.D. 1 N.D. 1 N.D. 1 N.D. 1
AAT ) 0.01] N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1
FT AFH A 0.01] N.D. 2 N.D. 0.3 N.D. 0.5 N.D.
F A A 0.01] N.D. 0.05 N.D. 0.10 N.D. 0.30 N.D. 0.05
7 )V 0.01] N.D. 0.1 N.D. N.D. N.D.
T IVHARAN L M NTa AR
V@A, ) 0.01] N.D. 0.5 N.D. 0.5 N.D. 0.5 N.D. 0.5
FILT RA 0.005] N.D. 0.005 N.D. 0.005 N.D. 0.005 N.D. 0.005
KN ZaL iR 0.01] N.D. 0.50 N.D. 0.50 N.D. 1.0 N.D. 0.50
K73 —)L 0.01] N.D. 2.0 N.D. 1.0 N.D. 1.0 N.D. 2.0
NZNF 0.005] N.D. 0.05 N.D. 0.05 N.D. 0.05 N.D. 0.05
IXTFFH 0.01] N.D. 0.3 N.D. 0.08 N.D. 0.3 N.D. 0.05
INGFF U AF )L 0.01] N.D. 0.2 N.D. 1.0 N.D. 0.2 N.D. 0.2
AP 0.01] N.D. 2 N.D. 0.6 N.D. 0.5 N.D. 0.05
EUIRAAT L 0.01] N.D. 1.0 N.D. 1.0 N.D. 2.0 N.D. 0.10
TJr=faFF 0.01] N.D. 0.2 N.D. 0.5 N.D. 0.2 N.D. 0.2
T = ZIVRF AL 0.01] N.D. N.D. N.D. N.D.
T FA 0.01] N.D. 2 N.D. N.D. 3 N.D.
T h—h 0.01] N.D. 0.1 N.D. 0.1 N.D. 0.1 N.D. 0.1
T L —h 0.005] N.D. 5.0 N.D. 1.0 N.D. 0.20 N.D. 0.20
T P a%T A—h 0.01] N.D. 2.0 N.D. 2.0 N.D. 0.5 N.D. 0.02
TV IAR 0.005] N.D. N.D. N.D. N.D.
7 HIRA 0.011 N.D. N.D. N.D. 0.02 N.D.
AV E Sy 0.005] N.D. 2.0 N.D. 2.0 N.D. 1.0 N.D. 0.05
INT ) JAa 0.01] N.D. 2 N.D. 5 N.D. 2 N.D.
Zul IR 0.01] N.D. 5 N.D. 1 N.D. 5 N.D. 0.05
ZaFFIRA 0.01] N.D. 2.0 N.D. N.D. N.D. 0.1
AL AR 0.01] N.D. 5.0 N.D. 3.0 N.D. 0.5 N.D. 5.0
XU TAAZ 0.0 N.D. 0.1 N.D. 0.2 N.D. N.D. 0.05
RAHUR 0.01] N.D. 10 N.D. 2.0 N.D. 5 N.D. 0.70
~TFF 0.01] N.D. 8.0 N.D. 2.0 N.D. 0.5 N.D. 8.0
a7 E=)L 0.01] N.D. 1 N.D. 1 N.D. 1 N.D. 0.05
ATV N AT = /5%
AN, ) 0.01] N.D. 1 N.D. 0.2 0.01 1 N.D.
AF- AT 0.01] N.D. 1 N.D. 0.1 N.D. 0.05 N.D. 0.2
TIVRUY KON VR
(EBFEN5 ) 0.005 N.D. 0.05 N.D. 0.02 0.06
TR 0.005 N.D. N.D. N.D. N.D. 0.01
A7a 0.01] 0.08 25
X —L 0.01
ZA=i=0 4=t=y% 0.01 0.37 5
TV 773K 0.01] 0.04 10
)T ITTv 0.01
L7 )V 0.01] 0.03 1.0
S TNANT = 0.01
FT7a)—)L 0.01
| N =1 0.01
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